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2660
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534
534
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683
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683

SKALA 1:100
Numer Wysokosc Powierzchnia
Posadzka
pom. pom. [m] netto pom. [m2]
1.01.1 3,43 plytki 4,84
101.2 2,88 plytki 8,53
1.01.3 2,81 plytki 8,95
101.4 3,08 plytki 14,81
1015 3,43 plytki 2,77
1016 3,43 plytki 751
) 8946 ) 1.01.7 2,12 plytki 6,11
A 1018 2,1 plytki 2,49
2 3077 ¥ 2797 ¥ 3072 ¥ 1.01.9 3,43 plytki 528
i} 3077 . 2797 . 277 L, 155 1729 . 911 i} 1.01.10 2,89 plytki 7,31
A A A A A A 1.01.11 2,76 plytki 2,93
165, 541 163, 538 462, 540 £ 64, 537 465, 537 465, 2797 466, 537 464, 537 164, 537 164, 537 464, 536 466, 10112 277 plytki 15.93
1.01.13 2,78 plytki 3,35
N FFT 1.01.14 2,76 plytki 491
© 5% < 1.01.15 2,77 plytki 10,92
“Tc A “1B " 1.01.16 2,78 plytki 8,96
i . i 1.01.17 3,45 plytki 578
barierka wys. 1,09m ©
R — e 1.01.18 1,78 plytki 6,02
T 1.02.1 2,44 plytki 6,49
2 2 1.02.2 2.4 plytki 4,94
2 x17x34 00 1.02.3 2,44 plytki 13,15
< 2 1.02.4 2,78 plytki 15,01
15k14x3p o 1.02.5 2,12 panele 381
g g g 8 8 1.02.6 2,8 plytki 1,11
—-|o ©o|lo ol ®|Q ~(Q - — m
e e e i EE 5[z & R szt 3 5[z & 02T parkiet | 723
£ NS 1.02.8 2,8 plytki 1,72
N N N N N N < {T barierka wys. 1,47m ok Il | barierka wys. 0,82m || |barierka wys. 0,82m J cgatrierka wys. 0,82m [ [barierka wys. 0,82m ok {T 1L 1.02.9 28 plytki 11,60
1.02.10 3,44 plytki 1,74
~— (XN —| N S~ — S~ -
g | | . | = . = < = : = 1.02.11 2,8 plytki 11,56
~ ™ [+ ™ o ~ b ~— © © ™ 3
I e _ _ _ _ _ _ _ 4 _ _ _ _ _ o 11 -4 ____ -1y 1 ___ _ R e A N I . I - _ _ e _ _Hstom _ |} | ] _| 1.02.12 3,44 plytki 2,06
i i T —1 H=9,56m — :
8 2 o : 1.02.13 343 plytki 1,50
6 ~ 541 156, 546 156, 546 _ 1551 o 543 1541 “‘ 537 2797 \ 466, 541 54 548 54 546 54 548 54 541 66 1.02.14 2,76 plytki 14,24
[se]
o S o = o o %>_ 1.02.15 28 plytki 15,86
(. (. (. o || o 1.02.17 2,12 plytki 4,55
|| || | ] | | I I | | 1.02.18 2,44 plytki 50,83
| E | | & | | E| | E| lel | €l | gl | € | 1.02.19 2.4 plytki 42,89
3 g 3 3 © © © © 1.02.20 2,7 lytki 19,26
1€ | 1§ | 16| 1€ ! B3 | | 02 ‘ Ci '
T T T T o | n s | | T | | T | | T | 1.02.21 2,69 phytki 4,38
|| (. || || > 1.02.22 27 plytki 4,64
| | | (. I | I I 1.02.23 27 plytki 18,85
murek wys. 0,32m | | | | murek wys. 0,32m [1 ] | ] | | | | 1.02.24 242 plytki 2817
| | L L ] | | | 1.02.25 2,37 plytki 8,95
Il | | | 1.02.26 3,34 plytki 17,52
I I I I 1.02.27 34 plytki 5,00
(. (. (I | I | || I 1.02.28 3,41 plytki 8,40
| | | | I | | | o 1.02.29 3,42 plytki 486
Ny ] | | | 8 1.02.30 2,88 plytki 1,79
| | (. || 5 o Sie - -
- = o </&§ | | | | | | | | 1.02.31 phytki 545,19
- I 5 1.02.31 I - I 5 I 5 %L f o 1N o ] ] 1.02.32 2,94 plytki 14,48
5 I | 8 | 8 || ] o717 L S 1051 1.03.1 plytki 221,31
e at At At A - - - .05. - :
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| | | | ) N ~ ~ L N
| | | | / | q [ | | 4] AR [ 1.03.8 3,43 plytki 7,46
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o o =347 - = 8‘ < T " — ' n < . 1.05.7 2,76 plytki 16,17
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e e i e - (S R|S oS = . "—,_ I || I I & 1.05.8 2,73 plytki 12,26
2 S S S z ———— 1053 140 T 1 1 1 1.05.9 27 plytki 6,97
~ ~ 1032 @ S 142 H=344m 8|  |oer] Il | | | 5 1.05.10 2,7 plytki 8,08
\ V9. NS 1.03.5] |4 1.03.10 1.03.12 1.03.15 205 S - 200 =) =) @ 1.05.11 264 tytki 19.31
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| | _ 15/ - — — =4l 3 N e -~ - = — — — — — , ~ <) g 80 gﬁ S w = 1.05.18 2,44 plytki 18,85
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